Notes 4.5.notebook

September 29, 2015

1. Find the slope of the line:
-2x -9y =4 =9y= ?;X +4
4 Y +2x :4_7' -

2. Use the slope-intercept form to graph the
equationy = (6/7)x + 3

RS

V= _‘TX—
X=r~+ ™ ]
\/:'—\'F ¥
o}

Y.s %
A -Fl'ff"' numbar 'Pl'AS Fuice o secamd

Number 7rs 2. Twice Ho €oes+ noeaber
‘,PIHS +o s<condd 'f‘b'h‘\s Iﬁ'

,1*<x+a7=D:) ;/"\"\/:_'0'

- —4y, =~
X+(7_X-r)—_?_ * y ‘1
X-lo= = —3\/=IT
S‘-(rg‘.d_r =
‘Flhr:|l y g

Sep 29-11:05 AM

Sessica Bradley x+169
X

’l—‘"’\" H.‘rnc.r

2% Haraer 707
= £} qudle.j 876

Sep 29-12:01 PM

28+ 2w= P

Sep 29-12:07 PM

Sep 29-11:57 AM

FEAA 'f“L'. MaensSUre aF +wo (MPIuv\u‘hmj
a\ﬁjtls P € ovie 4'49(4 s Afie +ime +He otHar

X+ 9x=90

lox=90
X=9 sma«ller 9°
larger &/°

Sep 29-12:04 PM




	Page 1

